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QUESTION 1

Regarding the characteristics of Huawei\\'s hybrid flash storage block service, which of the following statements is
correct ()

A. HyperReplication: Disaster recovery protection between data centers
B. SmartMigration: incremental local data protection

C. HyperSnap: Local data protection for complete copies

D. HhyperCopy: Data protection between devices

Correct Answer: ACD

QUESTION 2

The InfoLocker feature of OceanStor 9000 can be used to meet the business scenario of one write and multiple read.
A. True

B. False

Correct Answer: A

QUESTION 3

Single-choice Oceanstor 9000\\'s wiselink and smartconnecet technologies are different, which one of the following?
A. Domain name resolution function

B. Domain name design and zone management

C. Reabance function |

D. IP filver function between nodes

Correct Answer: C

QUESTION 4
Which is the wrong description about the synchronous remote replication of the OceanStor V3 storage array?
A. After the master and slave LUN write 1/O are successful, the master array returns the write 1/0O success to the host.

B. The master array writes 1/0 write data to the master LUN and sends it to the slave LUN.
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C. The impact of synchronous remote replication on the host\\'s write 10 performance has nothing to do with the
distance between the master and slave sites.

D. Synchronous remote replication can support one master LUN to simultaneously replicate to two slave LUNSs.

Correct Answer: C

QUESTION 5

Initiate quiescing of the application before the snapshot, and then trigger the hardware storage snapshot to create an
application-consistent snapshot copy. Via snapshot The backup copy is used for data backup, eliminates the data
backup time window, does not interrupt the production system business at all, and achieves the difference of data Save
it locally and improve the reliability of the data.

A. True

B. False

Correct Answer: A
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